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General Instructions :
Please read the following instructions carefully and follow them :

1. This question paper contains 10 questions.
2. All questions are compulsory.
3. This question paper is divided into FIVE sections, Section-A, B, C, D and E.
4. Section A : Question numbers 1 to 3 are very short-answer type questions carrying 2 marks
each.
5. Section B : Question number 4 is Source Based question carrying 3 marks.
6. Section C : Question numbers 5 and 6 are short-answer type questions carrying 3 marks
each.
7. Section D : Question numbers 7 to 9 are long-answer type questions carrying 5§ marks each.
8. Section E : Question number 10 is MAP based question carrying § marks.
9. There is no overall choice in the question paper. However, an internal choice has been
provided in some questions. Only one of the choices in such questions have to be attempted.
SECTION A
(VERY SHORT-ANSWER TYPE QUESTIONS)
Attempt all questions : 2x3=6
1.  Explain the main features of "Trans- Siberian Railway'. 2
2. How have the National Highways Development Projects' contributed in 2
the improvement of roadways in India ?
3. (a) Mention the two types of oil-refineries in India with examples. 2
OR
(b)  Solar power has advantages over non-renewable sources of energy. 2
Explain.
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SECTION B
(SOURCE BASED QUESTION)

Read the given passage carefully and answer the questions that follow :

Roads

Road transport is the most economical for short distances compared to
railways. Freight transport by road is gaining importance because it offers
door-to-door service. But unmetalled roads, though simple in construction,
are not effective and serviceable for all seasons. During the rainy season
these become unmotorable and even the metalled ones are seriously
handicapped during heavy rains and floods. In such conditions, the high
embankment of rail-tracks and the efficient maintenance of railway transport
service, is an effective solution. But the rail kilometrage being small cannot
serve the needs of vast and developing countries at a low cost. Roads,
therefore, play a vital role in a nation's trade and commerce and for promoting
tourism.

The quality of the roads varies greatly between developed and developing
countries because road construction and maintenance require heavy
expenditure. In developed countries good quality roads are universal and
provide long-distance links in the form of motorways, autobahns (Germany)
and inter-state highways for speedy movement. Lorries, of increasing size
and power to carry heavy loads, are common. But unfortunately, the world's
road system is not well developed.

The world's total motorable road length is only about 15 million km, of
which North America accounts for 33 per cent. The highest road density
and the highest number of vehicles are registered in this continent compared
to Western Europe.

Attempt all questions :

(a) Why does freight transport by road gaining importance ?
(b) When do unmetalled roads become ineffective and unuseful ?

(c) Which continent has highest road density ?

64/5/3 5
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SECTION C
(SHORT-ANSWER TYPE QUESTIONS) 3x2=6

(a)  "Television (T.V.) has emerged as the most effective audio-visual 3
medium in India." Explain the statement.

OR
(b)  "Konkanrailway' is the important achievements of the Indian railways.' 3
Support the statement.
"Indira Gandhi Canal irrigation has brought prominent transformation in 3

the agricultural economy of the region." Support this statement.

SECTION D
(LONG-ANSWER TYPE QUESTIONS) 5x3=15
(a)  Explain the causes and consequences of air pollution. 5
OR
(b)  Explain the causes and consequences of water pollution. 5
Classify industries of the world on the basis of raw material. Explain their 5

features with examples.

Why has the demand for holidays increased rapidly ? Explain the attractions ~ 1+4=5
which promote tourism across the globe.
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SECTION E
(MAP BASED QUESTION)

10. Locate and label the following features in the given outline political map of

India (Attempt any 5) :

(10.1) Bokaro - Coal mines

(10.2)  Singhbhoom - Copper mines

(10.3) Jamnagar - Oil refinery

(10.4) Bailadila - Iron-ore mines

(10.5) The northern most metropolitan city connected with Golden
Quadrilateral

(10.6)  The eastern terminal station of East-West corridor

NOTE : THE FOLLOWING QUESTIONS ARE FOR THE VISUALLY
IMPAIRED CANDIDATES IN LIEU OF Q. NO. 10 (Attempt any 5) :

(a)
(b)
(©)
(d)

(H

64/5/3

In which state Bokaro coal mines are located ?

In which state Singhbhoom copper mines are located ?
Name the state where Jamnagar oil refinery is located.
Name the state where Bailadila iron-ore mines are located.

Name the northern most metropolitan city connected with Golden
Quadrilateral.

Name the eastern terminal station of East-West corridor.

1x5=5

1x5=5

[P.T.O.
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Strictly Confidential: (For Internal and Restricted use only)
Senior Secondary School Term || Examination,2022
Marking Scheme — GEOGRAPHY (SUBJECT CODE - 029)
( PAPER CODE - 64/5/3)

General Instructions :-

1.

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and marks be
awarded to them. In class-X, while evaluating two competency based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, marks should be
awarded.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer ‘X’ be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

XIl_88 029 _64/5/2_Geography # Page-1



10.

11.

12.

13.

14.

15.

16.

17.

A full scale of marks (example 0-40 marks as given in Question Paper) has to
be used. Please do not hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines). This is in view of the
reduced syllabus and number of questions in question paper.

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

o Wrong totaling of marks awarded on a reply.

o Wrong transfer of marks from the inside pages of the answer book to the title page.
¢ Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

¢ Wrong grand total.

e Marks in words and figures not tallying.

¢ Wrong transfer of marks from the answer book to online award list.

¢ Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0) Marks.

Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

The Examiners should acquaint themselves with the guidelines given in the Guidelines for
spot Evaluation before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

The Board permits candidates to obtain photocopy of the Answer Book on request in an

RTI application and also separately as a part of the re-evaluation process on payment of
the processing charges.
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MARKING SCHEME
Senior Secondary School Examination TERM-II, 2022

GEOGRAPHY (Subject Code — 029)

[ Paper Code — 64/5/3 |
Maximum Marks : 35

Q. EXPECTED ANSWER / VALUE POINTS Marks

SECTION—A VERY SHORT ANSWER TYPE QUESTION 2x3=6

1. | Explain the main features of Trans-Siberian Railway. 2x1=2

1. Major rail routes of Russia runs from St. Petersburg in the west to
Vladivostok on East.
ii.  Longest double tracked routes.
iii.  Electrified routes
iv.  Connects Asian continent to Europe.
v.  Any other relevant point.

(Any two points to be mentioned)

[TB-I, Pg-69-70]

2. | How has the National Highways Development project contributed.
i.  Golden quadrilateral

ii.  North- south corridor

iii.  East — West Corridor

iv.  Connects metro cities (GC)

V. Saving time, fuel

vi.  Faster movement
vii.  Corridors connect extreme corners of the country

viii.  Any other relevant point.
(Any two points to be mentioned)

[TB-1I, Pg-115] | 2x1=2

3. | Mentioned the two type of oil refineries in India with example.
(a) i. Field-based oil refinery—Digboi :
ii. Market-based oil refinery- Barauni

Mention both type [TB-II, Pg-80] | 2x1=2

XIl_88 029 _64/5/2_Geography # Page-3



Or
(b) Solar Power has advantages over non-renewable sources of energy. Explain.
i. It is Renewable
ii. Non exhaustible energy source
iii. Vast potential being tropical region
iv. Non-polluting, environment friendly
v. Easy to construct plants (though initial cost is higher)
vi. Very low recurring cost
vii. Any other relevant point.
(Any two points to be mentioned)

2x1=2
[TB-1I, Pg-82]

SECTION—B 3x1=3
(Source Based)

4. Rl the pivem PASSARE carefully and snvwer the questions that folbow : I
ozl

Rl ransport is the most econombenl for shorl distances compared 1o
raipwavs. Freigi .U'ﬂn!-i[h.ﬂ by road s gaining importance because it offers
dpap-bomdiemt service, Bl unmetall o roads, ihugh simple i condlrucison,
are ik cliective and servicesble for all seasons Dhurimg the ramy season
these Become Unmotorable snd even the metalled ones are serlously
handicapped durmg heavy rains and floods. In such conditions. the high
grnharkmend of ral-tracks and the ¢fficient maintenance of raibway transpon
servive. 15 30 elfective solution. Bt the rail kilometrage being small canmit
serve the nocds of vast and developing countries ot 3 low cost. Roads,
therefore, play m vital robe in & nation's rade and commerce and for promeoting
L s,

The quabty of the roads varies grestly between developed and developing
countries because road construction and maintenanee require heavy
expenditure. In developed countries good quality roads are universal and
prowvide long-distance links i the fomm of mwolorweys, sutobahns (Gormany )
and imer-state highways for speedy movement. Lomies, of increasing size
and power 1o camy heavy loads, are common, But unfortunately, the world's
road svstem is nol well developed,

ke world's toial motorable road lengih 13 only abow 13 million km., of
which Morth Amenca accounts for 33 per cenl. The highest road density
and the highest number of vehicles are registered in this continent compared

10 Western Europe.

Attempt all questions :
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[TB-I, Pg-67] | 1x3=4
4-1. Why does freight transport by road giving importance?

Door-to-door service/ Economical for short distance. 1

4.2. When do unmetalled roads became ineffective and unuseful?

In rainy season 1

4-3. Which continent has highest road density.
North America 1

SECTION—C 3x2=6
(Short Ans Type Questions)

“Television (TV) has emerged as the most effective audio- visual medium in
India “. Explain the statement.

i.  News
ii.  Programmes related to education
iii.  Programme provided for entertainments.
iv.  Extension to the backward and remote rural areas also.
v.  Any other relevant point

(Any three points to be explained)

[TB-II, Ch-10, Pg-122]

Or
Konkan railways is the important achievement of the Indian railways.
Support the statement.

i.  Built in difficult terrain

ii.  Engineering marvel
iii.  Crosses a large no. of rivers, canals, streams and bridges
iv.  Asia’s largest tunnel lies in the route

V. Any other relevant point

(Any three points to be explained)

TB-1I, Pg-118
[ . ! 3x1=3

X1l_88 029 64/5/2_ Geography # Page-5



6. | “Indira Gandhi Canal : Irrigation has brought prominent transformation in
the agricultural economy of the region” suggest the statement.

i.  Increase Soil moisture
ii.  Increase in cultivated area
iii.  Increase in intensity of cropping
iv.  Replacement of traditional crops .
v.  Increase in agricultural productivity.

vi Any other relevant point.

(Any three points to be explained)
[TB-1I, Pg-110, 111] | 3x1=3

SECTION—D 5x3=
(LONG ANSWER TYPE QUESTIONS) 15
7 | Explain the Causes and consequences of Air Pollution . 3+2=5

(a) i.  Emission of toxic gases
ii.  Industrialisation—waste disposal
iii.  Rapid increase of vehicles
iv.  Combustion of fossil fuels
v.  Smoky fog
vi.  Urbanisation
vii.  Sewage disposal
viii. Any other relevant point 1x3=3

(Any three points to be explained)

Consequences of Air Pollution :

1. Various diseases related to respiratory systems
il.  Various diseases related to nervous systems
iii.  Various diseases related to circulatory systems
iv.  Acid rains
v.  Harmful for flora and fauna
vi.  Any other relevant point 1x2=2

(Any two points to be explained)
[TB-I1,Pg-135-136 and 134]

(b) Or 3+2=5
Explain the causes and consequences of water pollution :

i.  Dissolved suspended solids -organic and inorganic
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ii.  Sewage disposal

iii.  Toxic effluents from industries
iv.  Use of chemicals in agriculture
v.  Any other relevant point

(Any three points to be explained) 1x3=3

Consequences of water pollution :
i.  Water-borne diseases
ii. ~ Communicable diseases
iii.  Shortage of water
iv.  Increase in river water pollution
v.  Any other relevant point

(Any two points to be explained) 1x2=2
[TB-11,Pg-134-135]

Classify industries of the world on the bases of raw-material. Explain their
features with examples

1. Agro-based industries eg.- Sugar/ Textile/ etc.

il. Mineral-based eg- Iron/ Cement/ etc.

iil. Chemical-based eg.- PetroChemical/ Plastic/ etc
iv. Forest-based eg.- Timber/ Paper/ etc

v. Animal-based eg- Leather/ Wool/etc

(These points to be explained with examples)
[TB-1, Pg-50-51]

5x1=5

Why has the demand for holidays increased rapidly? Explain the
attractions which promote tourism across the globe.

(i) Improvement in standard of living
(ii)Increase in leisure time

(Any one point) 1

Attractions Promote tourism:
1.  Climate
ii.  Landscape
iii.  History and art
iv.  Culture
v.  Economy

vi.  Any other relevant point
1+4=5
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(Any four points to be explained) 1x4=4

[TB-1, Pg-60]

SECTION—E
Map of India (Location and Labelling)

[ I I 1

SECTION E
(MAP BASED QUESTION)

10. Locate and label the following features in the given outline political map of ~ 1x5=5
India (Attempt any 5) : :

(10.1) Bokaro - Coal mines 1
(10.2)  Singhbhoom - Copper mines 1
(10.3) Jamnagar - Oil refinery 1
(10.4) Bailadila - Iron-ore mines 1
(10.5) The northern most metropolitan city connected with Golden 1

Quadrilateral
(10.6) The eastern terminal station of East-West corridor 1

NOTE : THE FOLLOWING QUESTIONS ARE FOR THE VISUALLY 1x5=3
IMPAIRED CANDIDATES IN LIEU OF Q. NO. 10 (Attempt any 5) :

(a) In which state Bokaro coal mines are located ? 1
(b) In which state Singhbhoom copper mines are located ? 1
(c) Name the state where Jamnagar oil refinery is located. 1
(d) Name the state where Bailadila iron-ore mines are located. 1
(e) Name the northern most metropolitan city connected with Golden 1

Quadrilateral.

() Name the eastern terminal station of East-West corridor. 1

XIl_88_029_64/5/2_Geography # Page-8
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5x1=5

For Visually Impaired candidates only lieu of question 10.
Attempt any five

a) Jharkhand

b) Jharkhand

¢) Gujarat
d) Chhattisgarh
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e) Delhi
f) Silchar
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